Part I- Multiple Choice. (15 questions; 85 points).

Which of the following is NOT considered by economists to pe T
welfare,cost SERE nElaticn? :
a/ that it leads to lower economic growth over time.,.—
. that it tends to harm the poor more than the rich,
A c. that it generates inefficiencies such as menu costs, (—
d. that it reduces the international competitiveness of,
domestic goods.
e that it prompts governments to undertake eXpansionary
peliicies. |

Relagive to others, debtors from unexpected inflation.
gain
b. lose
c. experience a reduction in purchasing power
d. experience a loss in the portion of their income that is
fixed only. o
e. suffer from severe uncertainty. 7"§>(Er %is;e1
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Suppose the economy is in equilibrium and that G < T. Given this
informatien, and using the injections/leakages approach to
equilibxium, we know that

AT AR 4

w45 2RIk

. leakages must be greater than injections

©
d. the government can use its savings to pay back part of the
delbt:

€f> none of the above

of a good plan.
. stabilization

. classical

money supply

. Keynesian

(&) management

planned aggregate spending, there is

i

invent@gry investment.
. equal—to; stabiltzing
b. greater than; unplanned negatiye

@greater than; unplanned positive \1 > fp\ E::7 YV

d. less than; unplanned pgss

N‘ e. none of the above e \\> PPT{ =
oM -




Which of tn
e followj e .
economists? OWlNg is NOT a correct statement according to

§§é}9%;/g(ED Investment include

S activities such as the purchase of
stotks or bonds. g

Phen banks lend money to firms this is not considered
l?Vestment (for the banks) as formally defined.

?1rms invest when they acquire additional unplanned
Slnventories.

To invest is to acquire or produce something that can
Create future value. (—

Firms invest when they acquire new machinery or build new
plants. .

Changes in taxes or spending that occur automatically without

o0 4 deliberate changes in government policy are called

-

nondiscretionary fiscal

. discretionary fiscal

. nondiscretionary monetary
. discretionary monetary

. welfare compensation

In several recent years, the Lebanese government managed to
achieve a surplus in its budget. Despite that, the public debt
problem is still huge. This apparent contradiction is easily
explained by the fact that

volume of the public debt in this country is simply too
relative to other public debts around the world.

The wolume of the deficit in this country is simply too
large Xrelative to other deficits around the world.

. The public debt can only decrease if foreign governments
assist the country to pay it all back.

. The reported numbers are misleading.

The surplus was probably used to pay part of the debt but
is hardly sufficient to pay all of it.

When planned aggregate expenditure declines in an economic
crisis,/ Keynesians would advise the government to implement a(n)

. copfractionary fiscal policy to address the problem of
iniMation.

Iy, con?@actionary monetary policy to address the problem of
inflation. Vil :
(f)expansionary fiscal policy to increase output("ﬂ\

d. non-discretionary fﬂécal policy =
€. none of the above
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Assume /,,aggregate con

inves Sumption is C = 200 +

ent is $250 hiq1: .75Y and planned
Phe wrminiren ?;illon. i aggregate income is $1000 billion,
¥ entory change is $ billion.

b. 200 T e~ 1o Os
- C_-ﬂfjl \ = 1O /]
T
e. =100 ()R'\‘j
3! LGN

€ that C = 100 + .8(Y - T), taxes are 5100 billion,

S¥00 billion. Then an output of $1,600
Leads to no unplanned changes in inventories

o
b j__s beoelaowr—+th I T TR 3 3 = o i ){, (
) —BeowWw—tne—egurirorIunm Le€VEL OL output. \_{ =

. 1s above the equilibrium level of: output. \ ) (‘) (
e a<€PI«G)*(—_ |«
b)( )

. prompts firms to increase their output. N

%2%)}\”@:/ . none of the above \f :

: : —\
that the balanced-budget multiplier is one has

supported the Keynesian arguments that government spending

can be effective without increasing the public debt

b. supported the Keynesian arguments that government spending
must always be fully covered by taxes

c. supported the neoclassical arguments that government
spending is wasteful

d. supported the neoclassical arguments that government
spending cannot increase aggregate output

e. None of the above

o Q0

The existence of programs such as welfare and unemployment

compensation and a tax system that is progressive are things that
make an economy

a. less likely to have inflation ghEﬁthhegﬂ}se'

b. less likely to go through redessions than otherwise ™~

c. more likely to have a large debt than otherwise \(

less likely to experience dramatic fluctuations in
disposable income than otherwise

e. None of the above




: d economic times, there will always b? 3 Positive
gven in goo re. One of the reasons for that is:
unemployment raefﬁew entrants into the labor force every yeay
CE?/there 2;en decide to stay home and take care of their
//. ii?idien'despite the fact that they may have marketable

/ job skills. X | |
// C iome individuals eventually stop searching if they cannot
L/// find work after a while. X

d. a percentage of the labor force retires every year.
e. cyclical unemployment 1s never zero.
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Which of the follow}pg/%ituations i1s most likely to lead to an
increage in structural unemployment?

The reduction in job opportunities due to a recession.ﬁ%%4fﬁﬂ
. An increase in the numbers of universit

y graduatesAX dﬁﬂh onat
C. Erratic business cycles. ¥

Cf?j)Major technological changes.

e. All of the above are associated with structural-
unemployment .




Part II- Essays/Problems

: 40 i g
questions (20 points each) (40 points): Answer the following two

1) The fo i .

explain t;lm;mg questlons pertain to unemployment: a) Briefl

eCOnomistseth(')ur different types of unemployment. b) Why do )

an example oflrz;k tgi? some unemployment is inevitable? c) Give
public policy that may be used t

of unemployment that is inevitable. 4 o T

2) Assume an economy is represented by the following:

1000
1000

(0]
Il

C = 500 + .75Yg
PI = 800 7

Il

(a) Suppose actual output is 5000. What is the level of planned

expenditures at this level of output?

(b) Are there any unplanned changes in inventories
of Sﬁiput? 1f so, indicate how much and whether nefative or
positive. Briefly explain the implications.

() calculate the equilibrium level of output.

(d) Suppose that G and T simultaneously increase by 300.
Calculate the new equilibrium level of income USING THE SHORTEST

ROUTE .
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at this level

_lowd) + 800 1602
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